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3= Filin the blanks : 4, 5, 12, 16, 20,
(o) 22 (b) 24

(d) None of these

Evaluate; 876 + 045 =7

(@) 1811 ® 1721 (@ 2821 ) 121
3. Evaluate: 863285 =

@ 072 () 478 (@ 578 @ o7
4 Multiply this : 8657 =7

(@) 5955 ) 6055 © o155 @ so55
& Which diglt s at the thousand place in the mumber sap37

@ 9 s © 6 s
6. Which one is equal 1o no. 87657

@ 8+7+6+5 (b) 8000 + 700 4 5

(c) 8000 + 700 + 60 + 5 () 8000 + 60 + 5
7 Which of the following things live fn water?

(@) Asroplano ) Cat (©) Eish (@) Monkey




[image: image2.jpg]8. How many faces are thers in a Cube?
@ 4 ®) 6 © 8 @ s

9. How many triaugles are thero in this figurs?

@ 7 )6 @8 @ s
10 swave-t

fa) 231 (b) 342 (c) 432 d) 343
1. Which optons s corroct?

{a) 12 + 8 =06 ) 96 + 12=8 (c) 8+12=96 (d) %6 +12=8
12, Which number makes.this number sentence correct?

sre=2x[]

@ s )6 € 7 ) 8
13. Which circle is 3/4 unshaded?

fa) (b) (G} (C]]
14, Which numiber makes this number complete the expression?

ax7<ox ]

@ s ®) 7 © 9 @ 10
T, 1 Kilometer = ___metors.

{a) 100 ®) 10 {c) 1000 (d) 10000

16, Ram had 45 sweets. Ho dist
Ram?

(® 20

Juted 5 sweels each 10 his 2 friends. How many sweets were left with|

) 25

B 2@ 3@ 4® 50 6@ 7@ 8 @®
9. © 1000 1.() 1200 13 14.(d) 15() 16.()





